Printed: 12/1/2015 7:49:00 AM

Store: 1

Estimate Work Order #1129

Associate: Andy Page 1



Tri-State Sound & Light, LLC

703 2nd Avenue SW Onalaska, WI 54650 608-781-6855 sales@tristatesound.com www.tristatesound.com

La Crosse Center 300 Harborview Plaza La Crosse, WI 54601 608-783-3790

Qty	Description		
4	*XT600V CINEFLEX WHITE FRAME COLOR = SILVER 48" FRAME SECTION - 10 36" FRAME SECTION - 2 *SILVER CORNERS - 4 60" CARRYING CASE (LARGE) - 2 BLACK TARPS - 1 SILVER LEG "B" ASSEMBLY * COMPLETE KIT- SURFACE DUAL, SILVER FRAME AND * LEGS		
2	Focal Point Screen Flyware 108 X192 COMP VELOUR W/CASE		

Exempt

Subtotal: \$16,740.36

0 % Tax: + \$0.00

TOTAL: \$16,740.36

Deposit Balance:

\$0.00 Balance Due: \$16,740.36

WHAT IS NOT INCLUDED IN ESTIMATE?

Customer agrees to provide related electrical work and piping (conduit) as necessary and per Tri-State's instruction. All electrical work shall be completed before install can commence. Tri-State is not responsible for any and all foreseen and unseen costs of labor or material prior or post installation due to required modifications of the building, building fixtures, and/or furniture to complete installation to spec._

PRE-EXISTING EQUIPMENT:

If Applicable, unless otherwise noted, all existing equipment shall remain the property of Customer.



Please indicate above number with order

www.projectorpeople.com

PO Box 62256

Baltimore, MD 21264-2256 Telephone: 800/639-3010 x2242

Fax: 813/261-1512 Rep: Sarah Buss-Fonk

Email: sarah@projectorpeople.com

Bill To:

La Crosse Center Attention: Kris Salzwedel

La Crosse, WI

Phone: 608/792-5250

Email: salzwedelk@cityoflacrosse.org

Quote #370848

Date: 12/2/2015

Customer #: LAC009

Ship To:

La Crosse Center Attention: Kris Salzwedel

La Crosse, WI

VISA, MC, AMEX PREFERRED

Customer#	mer# Ship Via F.O.B.			Terms		
LAC009	BEST WAY	Ship Point		QUOTE		
Item Number	Item Description		Qty	Unit Price	Extended Price	
DRAPER SCREEN	Focalpoint Screen Note: 108 X 192 *XT600V CINEFLEX WHITE FRAME COLOR = SILVER 48" FRAME SECTION - 10 36" FRAME SECTION - 2 *SILVER CORNERS - 4 60" CARRYING CASE (LARGE) - 2 BLACK TARPS - 1 SILVER LEG "B" ASSEMBLY		2	\$7,050.00	\$14,100.00	
DRA385218	FOCALPT SUSPENSION BRKT	FOCALPT SUSPENSION BRKT		\$55.00	\$110.00	
DRA387014	FOCAL DRESS KITS 108X192 COMP IFR VELOUR W/CASE		2	\$1,875.00	\$3,750.00	
DRA385011	FOCALPOINT FRAME 48" ASSY SILVER		10	\$109.00	\$1,090.00	
DRA385009	FOCALPOINT FRAME 36" ASSY SILVER		2	\$75.00	\$150.00	
DRA385197	FOCALPOINT CORNER LS SILVER		4	\$79.00	\$316.00	
				Subtotal Sales Tax S & H Total	\$19,516.00 \$0.00 \$0.00 \$19,516.00	

Rep: Sarah Buss-Fonk

800/639-3010 x2242

Print Date: 12/2/2015 11:40 AM





